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1. What colour is observed when ZnO is heated ?

A. yellow
B. Violet

C. Violet


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_KW5UY2WjJmYT

D. Blue

Answer: A

° Watch Video Solution

2. Which of the following option is valid for zero

reaction?

3
Aty = §t1/4

4
B.t1 /0 = §t1/4

D.ty /4 = (t1/2)°


https://dl.doubtnut.com/l/_KW5UY2WjJmYT
https://dl.doubtnut.com/l/_9nSb967qbX9s

Answer: C

° Watch Video Solution

3. Violet colour appear in glass when we add-

A Cr3™t

B. Mn*t

c. I,

D.K™*

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_9nSb967qbX9s
https://dl.doubtnut.com/l/_Mn6s5IZe3o5A

4. 1n which 'd' electrons are zero?

A.Th

B. Es

C.Lu

D. Am

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_4wcQfhjQ84zj

5. What is IUPAC name of the following ?

CH,

AN

Br

A. 4-Bromo-2-phenylpent-2-ene
B. 2-Bromo-4-phenylpent-2-ene
C. 4-Bromo 2-phenylpent-4-ene

D. 2-Bromo-4-phenylpent-3-ene

Answer: A

[ - 1


https://dl.doubtnut.com/l/_dykfjgkwpNUD

l ) Watch Video Solution

6. Trien is

A. Hexa dentate, Mono anianic

B. evadentate, dianion

C. tetradentate, neutral

D. Mono dentate, anion

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_dykfjgkwpNUD
https://dl.doubtnut.com/l/_d4AiQ1o1BJDd

7. Complete the following reaction

Br, /CCl,

Ny,
ld

CHO

Br Br
OCH

A. OH

CHO
8" : “~OCH,
CHO
Br
OCH


https://dl.doubtnut.com/l/_kLcoBNO7LH9B

CHO
Br

OCHj,

Answer: B

o Watch Video Solution

8. Which is incorrect statement (Exact)

A. Amyeopectin is insoluble in water

B. Fructose is reducing sugar

C. Cellulose is the polymer B-D-glucose

D. D-ribose sugar present in DNA


https://dl.doubtnut.com/l/_kLcoBNO7LH9B
https://dl.doubtnut.com/l/_fO1YzzstR8vT

Answer: D

° Watch Video Solution

LiAlH,
9. CHy—CH=CH-CH=N — CH; 3

What is final product

A.CH; - CHy, — CHy, — CHy, — NH — CH;

B.CH; — CH = CH — CH2 — NH — CH,

C.CH3; - CHy, _CHy,—-CH — N - CHj;

D.CH; — CH = CH — OH, — OH

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_fO1YzzstR8vT
https://dl.doubtnut.com/l/_oFsDJLHubjlu

NH;

. CHO | COOH

What is sequence of reagent use to convert following:

A H,/Pd, [Ag(NH;),] ", Brs/ NaOH
B. Ag[(NHs),] *, Ha / Pd, Brs / NaOH
C. Bry/NaOH, [Ag(NH3),] ", Hy / Pd

D.Hy/Pd, Bra /NaOH, [Ag(NH3),] "

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_oFsDJLHubjlu
https://dl.doubtnut.com/l/_2X8nIemJTeDA

11. Match the foliowing:

(i) Biodegradble polymer
(ii) Bakelite
(iii)Neoprene
(iv) Glyptal

A. i-p,ii-g,iii-r,iv-s

B. i-q,ii-p,iii-r,iv-s

C. i-p,ii-g,iii-s,iv-r

Answer: A

AN N N N

p)3-Hydroxybutanoic acid
q)phenol
r)2-chlorobuta-1,3-dience
)

s)pthalic acid

0 Watch Video Solution



https://dl.doubtnut.com/l/_2X8nIemJTeDA
https://dl.doubtnut.com/l/_oNVBMpr01HhS
https://dl.doubtnut.com/l/_3qZ0msSVskCF

12. Order of increasing acidic strength

H |

5 Oy

() () (H1)

Al>1II>1I1
B.II > IIl > 1
C.I>III>1II

D.IIT > II > 1

Answer: C

0 Watch Video Solution



https://dl.doubtnut.com/l/_3qZ0msSVskCF
https://dl.doubtnut.com/l/_AMMufaAhH44s

NHz CHZ—NHZ
(I
HyC<_ _CH,

N NH,
i i ~OCH;,

(1) | (IV)

(1)

13.

Correct order of basic strength

Al >II>1II >1V

B.II > III >1>1V

C.III >1II >1>1V

D.IV > 1> 1II > III]


https://dl.doubtnut.com/l/_AMMufaAhH44s

Answer: B

° Watch Video Solution

14. Complete the following reaction

AN



https://dl.doubtnut.com/l/_AMMufaAhH44s
https://dl.doubtnut.com/l/_DmrlCbtxWFde

= OH
CHs
B.
CH,
A OH
CeHs
C. ¢
D.
Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_DmrlCbtxWFde

15. F-cenntre is

A. anion vacancy occupied by unparired electron

B. anion vacancy occupied by electron

C. cation vacancy occupied by electron

D. anion present in iterstitial site

Answer: A

o Watch Video Solution

16. Wave length of particular transition for H atom is

400nm. What can be wavelength of He™ for same


https://dl.doubtnut.com/l/_9CmSxRQHGVrz
https://dl.doubtnut.com/l/_0bdn1mPSXkqI

transition:

A.400nm

B. 100nm

C.1600nm

D.200nm

Answer: B

° Watch Video Solution

17. Which of the following at least one lone pair in all of

its halide.

A. Xe


https://dl.doubtnut.com/l/_0bdn1mPSXkqI
https://dl.doubtnut.com/l/_uTzj8lFp4df6

B. Se

C.cl

D.N

Answer: A

° Watch Video Solution

18. One monoatomic gas is expanded adibatically from

2L to 10L at atm external pressure find AU (in atm L

)?

B.O


https://dl.doubtnut.com/l/_uTzj8lFp4df6
https://dl.doubtnut.com/l/_5tSMLmgCrGJj

C. —66.7

D. 58.2

Answer: A

° Watch Video Solution

19. Correct order of acidic strength

OH OH OH
() 1 (11
Al >1II>III

B.II > III > 1


https://dl.doubtnut.com/l/_5tSMLmgCrGJj
https://dl.doubtnut.com/l/_v82ceg1YHfpG

C.I>III>1II

D.IT > II > 1

Answer: B

O Watch Video Solution

20. Which of the following is true for NyOx

A. Paramagnetic
B. Anhydride of HNO,
C. Brown gas

D. Exist in solid state In form of [NO;] [NO:,,_]


https://dl.doubtnut.com/l/_v82ceg1YHfpG
https://dl.doubtnut.com/l/_Y7Dk16x9yi1g

Answer: D

° Watch Video Solution

21. Which is least stable in aqueous medium

A Fet?

B.CO ™2

C. Ni 2

D. Mn 2

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Y7Dk16x9yi1g
https://dl.doubtnut.com/l/_52EZifWfp5ja

22. When 45gm solution is dissolved in 600gmwater
freezing point lower by 2.2K ,calcuate molar mass of
solute (K; = 1.86kg mol ~*)

A.63.4gm

B. 80gm

C.90gm

D. 21gm

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_kp5pYALX5xTJ

23. Which of the following is diamagnetic complex
3 3
A. |Co(0X),;]" , [Fe(CN)g4]

B. [Co(Ox),] o , [FeFg)°~

C. [Fe(Oz),]° ™, [FeFg)*~

D. [Fe(CN)y]’ ™, [CoFs)*~

Answer: A

° Watch Video Solution

24. Which of the following can be reduce easily

A V(CO)g


https://dl.doubtnut.com/l/_BqNCAF3CwfAt
https://dl.doubtnut.com/l/_6pbuRehnEBnD

B. Mo(CO)j
c.[co(CcO),]

D. Fe(CO).

Answer: A

° View Text Solution

25.When NH;3(0.1M)50ml mix with HC1(0.1M)10ml
then what is pH of resultant solution (pKj, = 4.75)
A.9.25
B.10

C.9.85


https://dl.doubtnut.com/l/_6pbuRehnEBnD
https://dl.doubtnut.com/l/_ePL8Ym720qJB

D.4.15

Answer: A

° Watch Video Solution

26. What is decreasing order of Boiling point

C
(A)~">"~ (B A (C) C—(::—c
C

Aa>b>c
B.b>c¢c>a
Ca>c>0b

D.c >b>a


https://dl.doubtnut.com/l/_ePL8Ym720qJB
https://dl.doubtnut.com/l/_oqB41ocLZtQ5

Answer: C

o Watch Video Solution

27. A gas (1g) at 4 bar pressure. If we add 2gm of gas
B then the total pressure inside the container is 6 bar.

Which of the following is true?

A M, = 2Mp
B. Mp = 2M,
C. M, = 4Mjp
D. Mz = 4M,

Answer: A


https://dl.doubtnut.com/l/_oqB41ocLZtQ5
https://dl.doubtnut.com/l/_vZyykkQD8M5C

o Watch Video Solution

28. Celll equation: A = 2B™ — A" + 2B
A*T 12 5 A
E° = 4 0.34V and log;, K = 15. 6 at 300K for cell

reactions Find E° for BT +e — B

Given M = 0.059]| at 300K.
nF

A. 0.81
B.1.26
C.—0.54

D. +0.94

Answer: D


https://dl.doubtnut.com/l/_vZyykkQD8M5C
https://dl.doubtnut.com/l/_Qd2bJfiaK2AS

° Watch Video Solution

29. What happen at increasing pressure at constant
tempreture

A. Rate of Haber process decrease

B. Solubility of gas increase in liquid

C. Solubility of solid increases in liquid

D.2C 5y + COy,,, —s2c0,, reaction move forward

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Qd2bJfiaK2AS
https://dl.doubtnut.com/l/_homDn2vt3Pkh
https://dl.doubtnut.com/l/_xU1NyG2ZZhOK

30. Which of the following is incorrect

A. Red P is toxic

B. White 'P' is highly soluble in C'S;

C. Black 'P' is thermadynamic is most stable.

D. White 'P' is soluble in NaOH evolves PHjy

Answer: B

o View Text Solution

31. Which of following statement is incorrect?

A. On prolonged dialysis calloid becomes stable


https://dl.doubtnut.com/l/_xU1NyG2ZZhOK
https://dl.doubtnut.com/l/_W9FYMumZysFL

B. AgNOj; in excoss Kl forms negative colloid

C. AgNOs in excess Kl forms positive colloid

D. Medicines work best in colloidal form because of

greater surface area.

Answer: B

o Watch Video Solution

32. Which are extensive properties?

A.V&E

B.V&T


https://dl.doubtnut.com/l/_W9FYMumZysFL
https://dl.doubtnut.com/l/_pODPGuqleSSZ

C.V&Cp

D.Pand T

Answer: C

0 Watch Video Solution

33. Which is incorrect regarding S and P mixing (along

Z axis.) ?

A. Nodal plane(s) present in ABMO

B. Nodal plane is absent in BMO

C. MO formed may have higher energy than parent

AO


https://dl.doubtnut.com/l/_pODPGuqleSSZ
https://dl.doubtnut.com/l/_6mPrUVvkDXj5

D. MO formed are asymmetric

Answer: A

o Watch Video Solution

34. When CH3COOCHs; + HCI is titrated with
NaOH then at neutral point the colour of
phenopthalein becomes colourless form pink due to:

A. due to formation of CH3;0OH

B. due to formation of CH3COQOH which act as a

weak acid.

C. Phenophalein vaporizes.


https://dl.doubtnut.com/l/_6mPrUVvkDXj5
https://dl.doubtnut.com/l/_CGnFHblYqDru

D. due to presence of HCI

Answer: B

° Watch Video Solution

35.2ICl — I, + C1, Ko = 0.14

Initial concentration of ICl is 0.6 M then equilibrium

concentration of I, is:

A.037M

B. 0.128M

C.0.224M

D. 0.748M


https://dl.doubtnut.com/l/_CGnFHblYqDru
https://dl.doubtnut.com/l/_ruuKy95KM4g3

Answer: B

o Watch Video Solution

36. If reaction A and B are given with same
temperature and same concentration but rate of A is
double than B. Pre exponential factor is same for both
the reaction then difference in activation energy
Ey,— FEgis?

A.—RTIn2

B.RT' In2

C. 2RT

RT

D. —
2


https://dl.doubtnut.com/l/_ruuKy95KM4g3
https://dl.doubtnut.com/l/_bvOA8ABPKeYp

Answer: A

° Watch Video Solution

37. Which of the following have maximum pH?

A. Black coffee

B. blood

C. Gastric juice

D. Saliva

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_bvOA8ABPKeYp
https://dl.doubtnut.com/l/_Cjv5K0Zr0HgY

- A?OOCH3 0
GCH;—CH—CH—CHe—CH.—C—CHa
. ,(,D"O—'CHS, l(j) DIBAL-H
o (2) KOH/A
38, |

CH3—?H—<;>=:O

A CHO

CHO

CH@Q
cH

@)

3

C—CHs

CHO
C.


https://dl.doubtnut.com/l/_VlmLvrBqm099

_ CHO

Answer: A::B::C

° View Text Solution

39.

HCI

A 4



https://dl.doubtnut.com/l/_VlmLvrBqm099
https://dl.doubtnut.com/l/_1qm0qV9HukD6

O™
Cl

B. @/\/\

C.

Answer: B

O Watch Video Solution

40. Assertion : HCOOH formic acid add react with

H5504 to form CO.


https://dl.doubtnut.com/l/_1qm0qV9HukD6
https://dl.doubtnut.com/l/_3WtYv0FIAZqF

Reason : H550, is mild (moderate) oxidizing agent.

A. If both assertion and reason are true and reason

is the correct explanation of assertion.

B. If both assertion and reason are true but reason

is not the correct explanation of assertion.

C. If assertion is true but reason is false.

D. If both asertion and reason are false.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_3WtYv0FIAZqF

41. Assertion : F'e 73 is not valid for Brown Ring Test.
Reason : BeCause NO, first convert into NO,
A. If both assertion and reason are true and reason
is the correct explanation of assertion.
B. If both assertion and reason are true but reason
is not the correct explanation of assertion.
C. If assertion is true but reason is false.

D. If both asertion and reason are false.

Answer: C

O Watch Video Solution



https://dl.doubtnut.com/l/_bFJPsFwjXcYU
https://dl.doubtnut.com/l/_OfjRulsIdGEP

42, Assertion: H3 PO, and H3PO3 both are present in

fertilizers.

Reason: H3 POj increases the solubility of fertilizers.

A. If both assertion and reason are true and reason

is the correct explanation of assertion.

B. If both assertion and reason are true but reason

is not the correct explanation of assertion.

C. If assertion is true but reason is false.

D. If both asertion and reason are false.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_OfjRulsIdGEP

43. Assertion : O3 has higher boiling point than 02.

Reason : O; is allotrope of oxygen.

A. If both assertion and reason are true and reason

is the correct explanation of assertion.

B. If both assertion and reason are true but reason

is not the correct explanation of assertion.

C. If assertion is true but reason is false.

D. If both asertion and reason are false.

Answer: B

O Watch Video Solution



https://dl.doubtnut.com/l/_OfjRulsIdGEP
https://dl.doubtnut.com/l/_HdElPUSTLsTT

44, Assertion : Tyrosine behave as a acidic at pH =7

Reason: pKg of phenol is mole than 7.

A. If both assertion and reason are true and reason

is the correct explanation of assertion.

B. If both assertion and reason are true but reason

is not the correct explanation of assertion.

C. If assertion is true but reason is false.

D. If both asertion and reason are false.

Answer: A

O View Text Solution



https://dl.doubtnut.com/l/_IsmXzICLw3Uf
https://dl.doubtnut.com/l/_gFmReipMnf0r

45, Assertion: Fe(OH), and As,S; colloidal sol on
mixing precipitates.
Reason: Fepy _ (3) and AsyS3; combine and form
new compistion precipate.
A. If both assertion and reason are true and reason
is the correct explanation of assertion.
B. If both assertion and reason are true but reason
is not the correct explanation of assertion.

C. If assertion is true but reason is false.

D. If both asertion and reason are false.

Answer: C

.Y l


https://dl.doubtnut.com/l/_gFmReipMnf0r

| ¥ vvalch viaeo soiution ]

46. Assertion:

+ C Hg-"C H Q—C Hz—Cl —&‘—3*-—)

Product is
isopropyl benzene
Reason : Due to rearrangement of primary cabocation
into secondary carbocation
A. If both assertion and reason are true and reason
is the correct explanation of assertion.
B. If both assertion and reason are true but reason

is not the correct explanation of assertion.

C. If assertion is true but reason is false.


https://dl.doubtnut.com/l/_gFmReipMnf0r
https://dl.doubtnut.com/l/_zjAQiDjFUtXU

D. If both asertion and reason are false.

Answer: A

° Watch Video Solution

47.
O-CzHs Br
LI + CyHsOH
NO, NO,
~ p-nitroethyl

phenyl ether

Assertion:

Reason: due to formation of highly stable carbocation.



https://dl.doubtnut.com/l/_zjAQiDjFUtXU
https://dl.doubtnut.com/l/_9vWD0DI8IYQk

A. If both assertion and reason are true and reason

is the correct explanation of assertion.

B. If both assertion and reason are true but reason

is not the correct explanation of assertion.

C. If assertion is true but reason is false.

D. If both asertion and reason are false.

Answer: D

o Watch Video Solution

48. The questions given below consist of Assertion (A)

and Reason (R ) . Use the following key to select the


https://dl.doubtnut.com/l/_9vWD0DI8IYQk
https://dl.doubtnut.com/l/_stLmSnrs1n4p

correct answer.

Assertion : In Zeise's salt, co-ordianation number of Pt

is five.

Reason : Ethene is a bidentate lignad .

A. If both assertion and reason are true and reason

is the correct explanation of assertion.

B. If both assertion and reason are true but reason

is not the correct explanation of assertion.

C. If assertion is true but reason is false.

D. If both asertion and reason are false.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_stLmSnrs1n4p

49, Assertion : When one solvent mixed with other

solvent, vapour pressure of one increases an decreases.

Reason : When any solute added into solvent, vapour

pressure of solvent decreases

A. If both assertion and reason are true and reason

is the correct explanation of assertion.

B. If both assertion and reason are true but reason

is not the correct explanation of assertion.

C. If assertion is true but reason is false.

D. If both asertion and reason are false.


https://dl.doubtnut.com/l/_stLmSnrs1n4p
https://dl.doubtnut.com/l/_CuUeT1GVccmB

Answer: B

o View Text Solution

50. Assertion: The surface tension of water is more

than other liquid.

Reason: Water molecules have strong intermolecular

H-bonding as attractive force.

A. If both assertion and reason are true and reason

is the correct explanation of assertion.

B. If both assertion and reason are true but reason

is not the correct explanation of assertion.


https://dl.doubtnut.com/l/_CuUeT1GVccmB
https://dl.doubtnut.com/l/_vjyb6kOm7IKY

C. If assertion is true but reason is false.

D. If both asertion and reason are false.

Answer: A

° Watch Video Solution

51. Assertion : Anti histammin does not effect
secration of acid in stomach :
Reason : Anti Histamine and antacids work on

different receptors.

A. If both assertion and reason are true and reason

is the correct explanation of assertion.


https://dl.doubtnut.com/l/_vjyb6kOm7IKY
https://dl.doubtnut.com/l/_lcsozTRwFUlu

B. If both assertion and reason are true but reason

is not the correct explanation of assertion.

C. If assertion is true but reason is false.

D. If both asertion and reason are false.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_lcsozTRwFUlu

